RETAN 1XRAERX ML o1

1. ROFBEAZEMBT. (S50, Ak15530%, Bik2540%, C#dsy)

(1) 07z=14 (2)  x+0.75=125x

(3)  —05z—14=56+02x (4)  0.05z —1=0.3(z+2)
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2. ROFGEAEMF. (S50, Af1530F, Bik2o40%, C#h4s)

(1) 0.92=36 (2) x+0.72=1.18

(3) —04x—21=56+0.7x (4)  0.04z —1=0.2(z +6)
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R&tTFAL 1 XRAEX M 01 RIS

1. ROFERZMT. (S50, AfR1330%, B2y 408, C#k4s)

(1) 07z=14 (2)  x+0.75=1.252
0.7 x10 = 14x10  <ijd x 10 (x+0.75) x 100 = 1.252x 100  <jiZ x 100
Tr = 140 100z +75 = 125z
z = 20 100z — 1252 = —75
—25x = =75
x = 3
(3)  —05z—-14=56+02z (4)  0.052 —1=0.3(z+2)
—5r—14 = 56+2r < x10 0050 —1 = 03z+06 < ()DEH
—br—2c = 56414 5z —100 = 30z + 60 — x 100
—7x = 170 5xr—30z = 60+ 100
x = -—10 —25x = 160
—br = 32
r — _32
5
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2. ROFGEAEMF. (S50, Af1530F, Bik2o40%, C#h4s)

(1) 09r=36 (2)  z+0.72=1.182
0.9z x10 = 36x10  <liid x 10 (z+0.72) x 100 = 1.18z x 100 <l x 100
9z = 360 100z +72 = 118z
x = 40 100z — 118z = —72
—18z = -T2
x = 4
(3) —04x—21=56+0.7z (4)  0.04z —1=0.2(z +6)
—4x—-21 = 56+T7r < x10 0.0dz —1 = 02z+1.2 < () DEH
—dx —Tr = 56421 4r—100 = 20z +120 < x 100
—1lz = 77 dr — 20z = 120+ 100
xr = —T —16z = 220
—4r = 55
r — _99
4
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